UG/1-Sem/G/19
2019 :

CHEMISTRY
(General)
Paper - DC-T1/GE-T1
| [CBCS]
Full Marks : 25 Time : 1 Hour 30 Minutes
The figures in the margin_indicate Jull marks.
 [F Answerany Jive questions : - 1x5=5

(@) The correct order of el@c&on affinity of halogen

e tesy & |
(i) CZ>F>B?>[
(i) / > Br >-CZ S
() CI>F<Br<]
(b) Aufbau principle is not correct for —
(@) Cu and Ar
@ Cu and Cr
(i) Cr and Ar
(iv) Mn and Cr s
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(2)
(¢) The radius of 1st Bohr orbit for H-atom is — -
@) 0.529A
(i) 0.629A
(i) 0.729A
@(v) 0.429A
(d) The oxidation number of ‘N” atom in NH,OH is —
1
@2 TR
@+
‘(iv) 2 4

(e) Usmg standmﬂ ectre .I pommﬂ, find out the palr
between whlcﬁ redﬂx teactlon is not’ feamble —

Fox values E“

et -‘-::g.. ;4-.'_. n .

R | PR -0, 77V' LRI04
Cu*t ICut = 0.34V Ag*/ Ag =0.80V

@ Fe* and I
(i) Ag* and Cu
(ii1) Fe“ and Cu

~ (iv) None of them



g s ( 35
® l-Chlorobutane on reaction Wlth aloohohc KOH
: 2 ap Bm-l—ene
(i) But-1-ol
(i) Bm-z-ené
SOy Batedeol e P e
(@ The orderofmacuvlty ofthe follomng bromides
toward Syl reaction is : .

Me s
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£:47)
(h) Choose the correct option —

H,C=CH-COOH +—HBr_ 49 ‘4 is

Br

@ HC/'\CO H
3 2

@ Br<\Me + CO,
(iiiy B~"~~CO,H L
(iv) None of the above ; ‘
2. Answer any ﬁmr queshons -- '. : 2x4=8

(a) Energy of an-électron in the lst Bchr orbit of
- H-atom is =13.6eV. Calculate the energy of an -
electron in the Ist excited state of Li2+ ion. 2

(b) “Iomzatlon potential of mtrogﬁl is greater than

oxygen — Explam. p =
(¢ Among BF. BC’Z3, BBr3 whlch one is the
| strongest lems acid and why? 2

(d) The standard reductlon potential for ¢,2+ /oyt is
lower than that I, /7~ ; yet copper is estimated
iodometrically. How tlus is become possible?

Explain. 2
e e
©) Me—-C=CH-CH;  Me-CH,-C=CH,

(A) (B)



(35)
Compare the structure of (4) and (B) in terms of
hyperconjugation. 2
() Why meso-tartaric acid is optically inactive
although it contains asymmetric carbon atom. 2
(2 Alﬂloughbmzylchlorideispﬁmmylmlide,bmﬁll
it is active in Sy1 reaction, why? 2

S e S T i
®) ‘4’ or B @ zwitio> CH:CHO

‘A’ and ‘B’ are-geometrical is isomers of each

‘other. Identity <4’ and'‘B* 2

3. Answer any fwo questions : _ 6x2=12
. (@ (@) How sﬁmmerfe_ld modified the Bohr’s
' theory? | ' 2
() How many unpaired électron are there in

G and B, 4 . ity
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(@) Electron a.ﬁimty of ‘Zn’ is négative—Explain.
' | 2
(b) @ Compare the stability of primary, secondary,
~ and tertiary carbocation with proper
explanation. 3
(@) Give an example of a species which can act
as a both electrophilic as well as nucleophile.
1

P.T.O.



b )

() Classify the following species as hard/soft
acid/bases — 2

@H @ N ©If @ H

© O H3c—<|:H—CH2-—CH3 ~forr > A+B
| |

Identify ‘4’ and ‘B’. Among ‘4’ and ‘B’
which one is major and why? 1+1+2

(i) Balange. the fal]omng cquatlon by ion
elee&an method — 5 2

K;Cf'z" + FeSO4 +“st04 e 2 K2S04
Crz (SO4)3 -+ Fez(SO4)3 +H2

(R}and(ﬁ% 1 - Chtoroctar
- (i) How would you oonvert ? =il 2
H3C—_CEC"H—)H3C—'CH2 —;CH2—B?'

e : :Me
A H H
\k Me: :

Me
Yat+Ya

() Me—C= C'Me



£ 9) _
BENGALI VERSION
1. @ W oIl ooem Bem e sxe=¢
(2) DIETR RERG SPIE 05 T 207 —
@ F>Cl>Br>1
@ CI>F>Br>1I
(i) /> Br>CI>F
(v) Cl>F<Br<I
(b) fot= corafba m W &aﬁ m CEES
(1) Cu 'EFR Ar
(ﬁ)4£:&;ﬁ¢Fi§ Cr
(iii) G Rar W
™) Moand G | ()]
() mﬂmmmWWﬁ B
@) 0.529A
@) 0.629A
@) 0.729A
(iv) 0.429A

P.T.O.
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(8)
(d) NH,OH (% ‘N’ *=a193 &2t 7t ze1 —

® -1

@ + 2

(i) + 3

@) + 4
R L R T R T r—— —

ceiba Ty wiRd-Reae [ e @ Jow
@A T —

B o B e =020y Ly I =0.547
Cu’’ /Cu* =034V Ag* /iAz =080V
@ A e I |
@) Agae Cu
() Fe &R Cutio. 20

(iv) CISI6 FF 1~

() ECIZAT KOH G070 1-@ARSEBT
Teoiw I —

() Ae5-13%

i) RTB-1-wr
(i) R®B-1-2
(v) AT5-2-ww7



@4>B>C
@B>C>A
G B> A>T 31 fonn
W) ' B?:Aﬁ A@' X
b s Renfs ﬁa‘iw s |
HZC CH - C+—fﬂ'—m?
L QEI'—- w1l
oty
0 nco4p, 35
@ Br~"\Me + o,
(i) jgnzf"~\,r(?(22
(iv) TR TR 7w

PT.O.
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(.10)
2. (¥ (T BIAD AT TEF WS : . xxe=v

(a) OGS AT @W ICHA AL &
~13.6eV| Li%* -awm@wmwﬁm
eIy Wfe @9 321

(b)‘ﬂmmmwﬁ’mﬁwwﬁmammﬁ’

Tt 39 v
(c) BF;, BCly, BBr, ~93 WU (I FR0OH WfEe
IR (P ? : 2

@) Cu*'/Cut-a3 o Rz Rex [,/17-93
G I S8 Cu-(&F| Jodometry-a7 LS
Wﬁﬁ@i@ﬁﬁ@f@%ﬁ?@?ﬂt@l 2

e | e ?H; '
(e) Me —é’: CH-CHy. (' Me-CH})+C=CH,
\ 44 - QA

:ﬁwﬁ o 0 RE “E@CW
oE FF|

(ﬂw%mmﬁwqumm

W@Wﬁ@;ﬂ@ﬂmﬁl 2
(2) @@ FIRT 1° JART 267! FTgS Syl
Rier cwta AfFT @9 [ F41

. 4 ‘ 9 (i)ol N
1) A SR ‘B’ g CH,CHO

S G ‘B’ TE AT wififes wwiRaR) ‘4’
‘B’ @ e FF|



(1)

3. @ I b &raw Teg we UXR=3]
(@ () Rt [FeiE can'a?r oG e

- IR 2

() Cu* 9 P-q Il Riels =G oR?

(i) ‘Zn’ -9 SERGA WG ANGE 1T 7|

2

() @ =R, mwmﬁ 932 Sy
A W?ﬁﬂ o

@ B Nz‘“ @-"’1* @ B

© O H3C—?H—CH2-CH3 Lol »4+B
| I |

A8 B (T T T ‘A’ GR B-aR

TG (0 T 2 @2 1+142

P.T.O.
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(12)

(ii) wwwwmm
Ruis =11

K2Cr207 -+ FeS04 + H2804 — KzSO4 +
Cr,(S0,); + Fey(SO,); + H,0

@) @ 1-GPUARATET Ry SfoTws ATFOlH
WS | IR GF ‘R’ 6 ‘S’ 915G T 371 3

(i) FeIr Felwa 312 2

‘. B .Me Me
NP

(m) Me—CEC Me\k ]
: . :Me




